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18 e = 27, 853, 359
LS = 27, 853, 359
PR e N O 1)) = 6, 049, 700 | & HiiEHRAL (RAH) 500 km
0. 1m3/kmAST ;
B fRA2 O3 400 km
0. 1m3/kmPL F0. 2m3/kmAi ;
I 5 fRAS U3 50 km
0. 2m3/kmPL F0. 4m3/kmAi ;
WEiEf  BE) (RH) 1, 000 km
B T s R L (D = 4,285,550 | B {ERTAL () 450 km
0. 1m3/kmAST ;
B A2 (T ) 100 km
0. 1m3/kmPL F0. 2m3/kmAi ;
I B fRAS (P ) 10 km
0. 2m3/kmPL F0. 4m3/kmAi ;
Bmigt  BE (KD 300 km
292N =N = 788, 664 | h/AMiE R (LR 13.1 km
bavigte BB (B 250 km
NZIZE M e ar)) = 343,919 | bavitE () 4.3 km
MWaVERE BB (KIH) 70 km
BRSO =X 2,070, 870 | & IRIEHRAL (RRH) 800 m
200= ¢ <400 HEFEERE0% ;
BITERA2 (BH) 700 m
200= ¢ <400 HEFEH =50% ;
BITERAS (B H) 10 m
400= ¢ <800 HEFEZR50% ;
BITERA4 OBH) 10 m
400= ¢ <800 HEFEHR =50% ;
BUTERAL U2 H) 10 m
800= ¢ <1000 HEFERB0% ;
BUTERAG U2 H) 10 m
800= ¢ <1000 HEFEH =50% ;
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BFIRER  BE) (RH) 600 km
B IER T (K =X 2,966, 140 | & IRIEHRAL (M) 800 m
200= ¢ <400 HEFEERE0% ;
BN RA2 (D) 700 m
200= ¢ <400 HEFEH=50% ;
B UIERAS (T TH) 10 m
400= ¢ <800 HEFEZR50% ;
B IIERA4 (T TE) 10 m
400= ¢ <800 HEFH= =50% ;
B UIERAL (1 TH]) 10 m
800= ¢ <1000 HEFEZRB0% ;
B IIESTAG (T [H]) 10 m
800= ¢ <1000 HEFHZ =50% ;
FRER BE &) 600 km
TETE 7 T R = 436,422 | {ANEIERFAL (BEH)D 100 m
S<0. 125 HEREZRB0% ;
TR EIRA2 (B 100 m
S<0. 125 HEFE=R =50% ;
TRIFEIEIRAS (B 10 m
0. 125=5<0. 5 HEFEZRB0% ;
R IE IR A4 (BLRED) 20 m
0.125=5<0. 5 HEFEZR =50% ;
VTR B E) (RH) 160 km
TETE R T () = 1 2,396, 840 |fAETETAL (FE M) 280 m
S<0. 125 HEREZRB0% ;
TR EIRA2 () 500 m
S<0. 125 HEFEZR =50% ;
TR IEIRAS () 300 m
0. 125=5<0. 5 HEFEZRGB0% ;
R E IR A4 () 50 m
0.125=5<0. 5 HEFEZR =50% ;
G R BB (KD 180 km
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HEoRPHER T (R = 1 54,719 |HEAKPHERAL (B 10
e HHERSE 25emATR ;
SERBHE A2 (B ) 10
JETHERE)E 25embl |k
SEokpHER BH (B M) 10 km
SERBHE R T (&) = 1 163, 080 | /KMHERAL () 30
e HHERS R 25emATR ;
EARPHERA2 () 20
JETHERE)E 25embl |k
ERPRER B ) 10 km
B G- i A1 2 = 1 650, 555 | B HITEFRHEL (A% (B 450 km
WOKH A2 (BH) 1, 700 km
Mg R (A (R 900 km
PEKE g A [k (RRE) 400 km
ARG [\ (8D 400 km
FEHESMEZE = 1 2,576, 870 | —fx LA EER (B 5 A
— & LA EE R (KT 10 A
FepREZER (B 5 A
FEEREZE B (R [HD) 5 A
WiEIEZE R (B 10 A
EmfEH B (M) 10 A
TERR T (B 5 A
TR T () 5 A
BT (BLFE) 5 A
BT (%) 5 A
KEERE 85 (B 5 A
773y IV TN 7T 2. bm3ifk
KETERE  FRHA GBR) 5 A
779y« WigzEC fyn 2. 5~3. 1m3#k ;
BOKE &4 (BH) 100 |
6, 500L ;
BOKE FRA (B 5 iLgil]
5, 500~6, 500L ;
b7 by)  FRiA GBI 5 ]
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ALHERR AN e TV
NAVERE B (8D 5 REfH
2K7° 7y BENBLE ;
PoKERTmE &5 (BRH) 30 FF [
Vb PR S, 8m3
PEKE G E A (BRE) 5 REfH
Vizy b FU)% 5. 3~5.8m3 ;
ANEERE &5 (B 30 A
n=p)7 07 dyn” R4, 5m3
ARG E FHA (B 20 A
=477 7 Ky R E4. 5~5. 0m3
Ak E RRA B 10 FRE [
LEDZR M 4Ax25 FeUl B 2L E 1
Ak E RRA () 10 FRE [
LEDR M 4ax25 BNl LS AT
R IR PR = 1 943,530 |2 R LT Y ALy 10 m3
15 IeALSy 200 m3
racok=giit =X 1 4,126,500 | 23 FHEE R B A (BM) 30 AH
AR FE SR BB (8- f) 60 AH
AIE SR B A (R ) 30 AH
AR BB (R [H) 110 AH
RS =X 1 27, 853, 359
B CE = 1 4, 346, 000
Homex®E (FE L) = 1 4, 346, 000
il T = 1 32, 199, 359
B =X 1 18, 460, 000
T = 1 50, 659, 359
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— R B = 9, 420, 641
T FAfiifs = 60, 080, 000
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